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Y= 2015~ 301) Y= Fx-8

=

C1.-1)

f 3 cos (L + ) v

- }_cos(uxﬂ§> FC

G

0 A0 R

* X8477 60203 =%

page 03




-

QUESTION
NUMBER

4.

An additional diagram, if required, can be found on page 16.

yﬂ

(0,-2) (0,-2) (014
(20 (-2,0) (-2 0)
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SiInx + 2, = gcogz')c
Sindekr = 3 (1= 2siata)
SWWL 41 = 3 - Lisipthe

(:ESLAA?‘)L Fsoax - 1= O

(3 SIAX — \)CZ s+ | ) =0
Lswax-) =0 Zsiax+ V=0

Sinae = L SLIAX = -\
= Z

A= 45, 160 X= 210, 330°
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9.(a)

9.(b)
(i)

9.(b)
(ii)

ksin(xka) = kswacoa + kcoscsig

kcosa staxe v RkSwnacosx

b swocosx. + KCoSosin s
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ksinae =3 fana = 3 4 aIR%
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050, e &
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DO Ky
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S
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